A 3

FR % B =4 HEBERES
FREBFR/NF 1 BUXE 4.5 kWL E
R ERFR/NFAR 1 ENRYZ= 5.6 kWL E
REBFR/NF 1 RERE 25.0 kWL E
FREBFR/NF 2 ML ERE 14.0 kWil E
R EBFR/INFAR 2 B hHhh L3 4.5 kWX E
FHEBFR/INFAR 2 MT= 25.0 kWLl E
FREBFE/ N 3 EBR=E 40.0 kKWL E
ER/NER 1 BOXZE 45 kWL E
ER/NER 1 ENRYZ= 5.0 kWL E
ER/NER 2 NI=ZE 20.0 kWLl E
ER/NER 4 BR=E 30.0 kWL E
/NI 4 RERE 40.0 KWL E
BEVINER 1 FNRIZE 5.6 kWL E
B INFR 1 BUXE 3.6 kWL E
B INFR 1 EEE 3.6 kWi E
B INFR 2 BR=E 25.0 kWL E
B INFR 3 RERE 30.0 kWL E
==t oy 1 ENRIZE 5.0 kWLl E
BRNER 2 BR=E 20.0 kWLl E
==l oy 2 % BRI 775 kWLl E
BN 2 BUXE 3.6 kWi E
==t oy 3 RERZE 30.0 kWL E
BIRNFR 3 MT= 30.0 kWL E
BN 3 RESE 20.0 kWL E
==t oy 3 N 20.0 kWLl E
RN FR 3 D ANE5,6 20.0 kWLl E
=2 HR/NER 1 EBEE 4.0 kKWL E
2 HR/NER 1 REE2 7.1 kW E
=Yz lAN=2 1 ME=E 30.0 kWL E
2 HR/NER 1 S WNF 971 14.0 kWX E
=Yz lAN=2 1 REE 10.0 kWLl E
2 HR/NER 1 Bae= 40.0 kWL E
=Yz lAN=2 1 REEE 14.0 kWil E
2 HR/NER 1 ENRYZ= 7.1 kWL E
=Yz lAN=2 1 2ERE 14.0 kWil E
=Yz lAN=2 1 REEE 7.1 kWL E
2 HR/NER 1 BR(Z & 1) 7.1 KWL E




AI#E 3

=Y=E A= 1 BRUE- &) 7.1 kWL E
=Yz lAN=2 1 BUXE 10.0 kWLl E
Y= A= 1 EEE 3.6 kWL E
=2 HR/NER 1 HIEE 14.0 KWL E
Y= A= 1 PR E 14.0 kWil E
2 HR/NER 1 TAEE 14.0 KWL E
EHR/NER 1 73 Vlb—h 8.0 kWil k
=Y=E A= 1 rEAREE 3.6 kWi E
= H/INER 1 FYFb=1 30.0 kWL E
=Yz lAN=2 1 R BIRE 3.6 kWi E
=2 HR/NER 1 VAR Z I 30.0 kWL E
=Yz lAN=2 1 R IRE] 14.0 kWl E
=Yz lAN=2 1 R IRE? 14.0 kWil E
=Yz lAN=2 1 R IR E3 14.0 kWil E
=Yz lAN=2 2 FRlEENE 10.0 kWLl E
=Yz lAN=2 2 BR=E 25.0 kWL E
=Yz lAN=2 2 ZENREE 30.0 kWL E
=Yz lAN=2 3 F2ERE 25.0 kWL E
2 HR/NER 3 NIZE 30.0 kWLl E
=Yz lAN=2 3 RERE 30.0 kWL E
=Yz lAN=2 3 FIERE 30.0 kWL E
EIMNE/NFER 1 ENRYZ= 45 kWLt
EMBENFRR 1 RERE 25.0 kWL E
EMBENFRR 2 BUXE 4.5 kWL E
2IME/NFER 2 BR=E 25.0 kWLl E
EMBENFRR 2 MI= 25.0 kWL E
EIMENFER 3 R ANZA 10.0 kWLl E
EMENFR 3 N 40.0 kWX E
PLRNFRR 1 ENRIZE 7.1 kWL E
PLRNFRR 1 BUXE 3.6 kWL E
PIRNFR 1 M= 25.0 kWL E
PLRNFRR 2 M= 4.5 kWL E
PLRNFRR 2 BR=E 25.0 kWL E
PLRNFRR 2 ZENE 40.0 KWL E
PRNFR 3 FYFI=h 40.0 kWLl E
PLRNFRR 3 RERE 30.0 kWL E
EHEINER 1 ENRIZ 10.0 kWLl E
EHEINER 1 BUXE 3.6 kWL E
BE/NFR 1 EBR=E 20.0 kWL E




AI#E 3

BE/NFR 1 IZ > &-h 125 kWl E
BENFER 1 N EEFE 3.6 kWi E
EENER 2 MI= 25.0 kWL E
EENER 2 RERIE 25.0 kWL E
RN 3 B E 20.0 kWL E
EEINER 3 LN 20.0 kWL E
EEUN=2 1 ENRIZE 3.6 kWL E
SRS 1 BUXE 3.6 kWi E
SR 1 2RE 10.0 kWL E
SR 2 MI= 25.0 kWL E
SR 3 RERIE 30.0 kWL E
EEUN=2 3 BR=E 30.0 kWL E
POSER/ N AR 1 ENRYZ= 45 kWL E
PR N AR 1 BUXE 3.6 kWi E
PR/ N AR 2 BR=E 30.0 kWL E
PR/ AR 2 RERIE 30.0 kWL E
IR 1 ENRIZE 7.1 kWL E
AN 1 BUXE 3.6 kWi E
AN 1 BR=E 25.0 kWL E
IR 1 RERIE 25.0 kWL E
AN 1 MI= 30.0 kWL E
AN 3 BEE 50.0 kWL E
/N /N AR 1 ENRIZE 5.0 kWLl E
/N /N AR 1 BUXE 3.6 kWL E
/N /N AR 1 MI= 25.0 kWL E
/N /N AR 2 DANBHE 14.0 kWil E
/N /N AR 2 BR=E 25.0 kWLl E
/N /N AR 3 RERIE 30.0 kWL E
AR /N 1 BUXE 3.6 kWL E
AR E/NER 1 =EES 5.6 kWL E
AR E/NER 3 M= 30.0 kWL E
AR /N 4 RERIE 25.0 kWL E
AR BN 4 BR=E 25.0 kWLl E
N B INFER 1 FNRIZ= 45 kWL E
N BINER 1 (EH=E 3.6 kWi E
N BINER 1 BUXE 3.6 kWi E
N BINER 1 PR ==L 14.0 kWL E
N BINER 1 BR=E 25.0 kWL E
N BINER 1 2RE 14.0 kWil E




AI#E 3

MIEN=22% 2 RERE 25.0 kWl E
MIEN=22% 3 MI= 30.0 kWil k
FRT/INERR 1 BOXE 3.6 kWLl E
FRT/INERR 1 FNRIZE 5.0 kWL E
FRT/INERR 1 RERE 25.0 kWl E
PRI/ NFAR 1 Bl 25.0 kWil k
FRT/INERR 1 HREE=E 25.0 kWl E
FRI/INERR 3 MI= 30.0 kWil kE
RUNFERR 1 MI= 25.0 kWil E
RUNFERR 1 FNRIZE 4.5 kWil k
RUNFERR 1 BOXEE 3.6 kWLl E
RUNFERR 1 BR(E-> &2) 14.0 kWL E
RUNFERR 2 % BRI 85.0 kWLL L
R/INERR 2 Bl 25.0 kWl k
RUNFERR 2 RERE 25.0 kWil k
RUINFERR 2 #fF= (RIEE) 10.0 kWLl E
RUNFERR 3 SSHIMCE 20.0 kWl E
i dN=22 % 3 BR(Z & 1£1) 10.0 KWL E
i dN=22 % 3 BR(Z & 1£2) 10.0 KWL E
CYIN=25;% 1 RERE 25.0 kWil kE
BN 1 BR=E 25.0 kWL E
B/NFRR 1 BOEZE 3.6 kWLl E
CYIN=25;% 1 FNRIZE 5.0 kWL E
B/ 2 TN =R 14.0 kWL E
B/ 2 TN =R 14.0 kWL E
[IEWINCY o 2 MIT=E 25.0 kWX _E
B/ 3 TN =R 20.0 kWL E
B/ 3 TN =R 20.0 kWL E
ZENER 1 RERE 25.0 kWl k
ZENER 1 R iEL 20.0 kWLl E
ZENER 1 BOEZE 3.6 kWil E
=BINER 2 ERlE 25.0 kWl kE
RRABEENFI 1 BR=E 25.0 kWLl E
KR FE /NI 1 RERE 30.0 kWil k
KR FEEE/ NI 1 BOEZE 3.6 kWLl E
NN 1 RERE 25.0 kWl k
IR 1 BOXE 3.6 kWil E
IR 1 FNRIZE 7.1 kWil E
T\ /N 2 BR=E 25.0 kWLl E




AI#E 3

TNIB/INERR 2 FHEL 25.0 kW E
TNIB/INERR 2 FRE 114 5.6 kWL E
TNIB/INERR 3 MI= 30.0 kWX E
TE/NFER 1 MI= 20.0 kWX E
TE/NFER 1 SNEES 45 kWL E
TE/NFER 1 BOX = 3.6 kWLl E
TE/NFER 1 REE 7.1 kWL E
TE/NFER 2 B 25.0 kWX E
TE/NFER 2 RERIE 25.0 kWX E
RAZ N 1 Eil=E 25.0 kWX E
RA INFRR 1 MI= 25.0 kWX E
RA INFRR 1 UK = 3.6 kWLl E
RA INFRR 1 ZNEES 45 kWL E
RA INFRR 2 RERIE 25.0 kWX E
AORINER 1 ZNEES 3.6 kWLl E
AORNER 1 BOX = 3.6 kWLl E
AORNER 2 MI= 30.0 kWX E
AORNER 2 BRE 25.0 kWX E
AORNER 2 RERIE 25.0 kWX E
ST (AN 1 BOX = 3.6 kWLl E
SR (AN 1 ZNEES 7.1 kWL E
(AN 3 MI= 25.0 kWX E
BT NFER 4 Eil=E 25.0 kWX E
B FNER 4 RERIE 30.0 kWX E
AN 1 SNEES 7.1 kWL E
AN 1 BOX = 3.6 kWL E
AN 1 RERIE 25.0 kWX E
AN 1 REEH = 30.0 kWX E
AN 1 BE= 10.0 kWL E
AN 2 MEZE 20.0 kWX E
AN 2 ZENE 30.0 kWX E
AN 2 B 20.0 kWX E
AN 2 MI= 20.0 kWX E
AN 3 TN 20.0 kWX E
AN 3 TN 20.0 kWX E
AN 3 TN 20.0 kWX E
AN 3 BFEE 30.0 kWX E
/NI 1 ZNEES 3.6 kWLl E
/NI 1 BOX = 3.6 kWLl E




AI#E 3

NI 2 B 20.0 kWX E
)N 2 RERIE 25.0 kWX E
)N 2 PTAZE 7.1 kWL E
NI 3 MI= 30.0 kWX E
BEF/NPR 1 H#=E 3.6 kWLl E
BEF/NPR 1 RERIE 25.0 kWX E
BEF/NPR 1 ZNEES 3.6 kWLl E
BEF/NPR 2 DUOD U2 7.1 kW E
HEANFR 2 Eil=E 25.0 kWX E
BEF/NPR 2 MI= 25.0 kWX E
BEFANFER 2 BOX = 3.6 kWLl E
BEANFER 3 RERE 10.0 kWL E
ZEAENER 1 OFEHYI-4 40.0 kWL E
ZEAENER 1 BOX = 3.6 kWLl E
ZEAENER 1 R E 20.0 kWX E
ZEAENER 2 RERIE 25.0 kWX E
ZEBEAENER 3 RERE 20.0 kWX E
ZEAENER 3 MI= 30.0 kWX E
ZEAENER 3 BRE 30.0 kWX E
REB /NP 1 RERIE 25.0 kWX E
REB /NP 1 ZNEES 14.0 kWLl E
REB /NP 1 BOX = 3.6 kWL E
REB /NP 2 BRE 25.0 kWX E
REB /NP 3 MI= 30.0 kWX E
Ba /NP 1 RERIE 25.0 kWX E
BRNER 1 Eil=E 25.0 kWX E
Ba /NP 1 UK = 3.6 kWLl E
Ba /NP 1 SNEES 7.1 kWL E
Ba /NP 1 i —P-A 14.0 kWXL E
Ba /NP 2 Z B/ 14.0 kWLLE
Ba /NP 3 PN G 20.0 kWX E
e /NP 3 D N4 20.0 kWX E
e /NP 3 MI= 30.0 kWX E
=EINER 1 BOX = 3.6 kWLl E
=EINER 1 ZNEES 5.0 kWL E
=EINER 2 RERIE 25.0 kWX E
=EBINER 2 B 25.0 kWX E
=EBINER 3 MI= 30.0 kWX E
AV ATiTANELT N 1 MI= 25.0 kWX E




AI#E 3

A FizlAN=a 1 RERIE 25.0 kWLl E
AV FrizlAN=a 1 BOEE 5.0 kWLt
IAC FrizlAN=a 1 = 45 kWLt
AV FrizlAN=a 2 BRE 25.0 kWLl E
PREALNER 1 M= 25.0 kWLl E
BDpEBIMIN= 1 2RE 45 kWLt
PREALNER 1 =EES 45 kW E
PREALNER 1 BOX=E 3.6 KW E
BDpEBIMIN= 1 M E (M=) 3.6 kWLt
PR NER 2 BR=E 25.0 kWLl E
BRI 1 MI= 30.0 kWL E
BRI 1 BOEE 3.6 kWLt
BRI 1 = 7.1 kWLl E
BB/ INFAR 4 BRE 25.0 kWLl E
FR /N 1 R = 4.0 kWL E
PN 1 OAL— Ls 4.0 kWL E
FR /N 1 BOEE 45 kWLl E
FR /N 1 RERIE 25.0 kWLl E
e YIN=28 1 FYFI=h 30.0 kWil E
FR /N 2 MI= 25.0 kWLl E
FR /N 2 RESE 20.0 kWLl E
PNt 2 BRE 25.0 kWLl E
PNt 2 FRE 25.0 kWLl E
ERINEaY 1 = 4.0 kWLl E
NN 1 BOEE 3.6 kWLt
FaNFR 2 BRE 20.0 kWLl E
ERINEaY 2 (FF%) 12.5 kWi E
ERINEaY 3 PTAZ 7.1 kWLl E
FRER R FAR 1 EMTE 25.0 kWLl E
FRER R FAR 1 #EfE= (IHPC) 7.1 kWLl E
FRER R FAR 1 BT = 45.0 kWLl E
AR 1 7-M77MBED 14.0 kWl E
FRER R FAR 2 RERMEIRE 25.0 kWLl E
FRER R FAR 2 RERFAEE 25.0 kWLl E
FRER R FAR 2 BRE 40.0 kWLl E
FRER R FAR 2 BOEE 7.1 kWLl E
FRER R FAR 2 R = 10.0 kWL E
FRER R FAR 3 % B #9H-I 85.0 kWLt
FRER R FAR 3 FRE 30.0 kWL E




AI#E 3

BRI 3 RHEEE 20.0 kWU E
B PP 1 Bt = 40.0 kWX E
B PP 1 SSUIDEE IS 20.0 kWL E
B PP 1 SylbE ! 20.0 kWLLE
B PP 1 Rihl 3 iR 2 20.0 kWLLE
B P PR 1 BE= 25.0 kWL E
B P PR 1 RE=E 7.1 kWL E
B P PR 1 SNHES 4.5 kWL E
B P PR 1 HKE 4.5 kWL E
B P PR 1 RiE=E 14.0 kWL E
B P PR 1 EEE 50 kWL E
B P PR 1 JOXZE 50 kWL E
B PP 1 RE=E 7.1 kWL E
B PP 1 SEE 12.5 kWL E
B PP’ 2 BER=E 25.0 kWL E
B P PR 2 LEMEKL 3.6 kWLl E
B P PR 2 LEMEK2 3.6 kWLl E
B PP 2 EREEE]L 4.0 kWLl E
B P PR 2 ERRIEEE? 4.0 kWLl E
B PP’ 2 (SNdWHE) 10.0 kWL E
B PP’ 2 HRAEHE 10.0 kWL E
B P PR 2 ME=E 25.0 kWL E
B PP’ 2 PC= 30.0 kWL E
B PP’ 2 REMBAEE 25.0 kW E
B P PR 3 L= 30.0 kWL E
B PP’ 3 REFMEIRE 25.0 kWL E
B PP’ 3 BFEE 20.0 kWL E
B P PR 3 BRHEE 25.0 kWL E
B P FR 3 ZENREE 25.0 kWL E
B 1 BE= 30.0 kWL E
B 1 EEE 4.5 kWL E
B 1 RE=E 12.5 kWEL E
B 1 = 3.6 kW E
BHER 1 SNHES 4.0 kWXL E
B 1 RiE=E 20.0 kWU E
B 1 ROXZE 10.0 kWL E
AR 1 HKE 3.6 kW E
B 1 HKE 3.6 kW E
AR 1 SHE 20.0 kWL E




AI#E 3

BRI 1 REEARE] 5.6 kWLl L
etanl= i 1 REEE R E? 5.6 kWLl L
BRI 1 RERFEE 25.0 kWLl E
etanl= i 1 BRI IEEEE 12.5 kWL E
BRI 1 BRI XIRE 20.0 kWLl E
BRI 2 N 20.0 kWLl E
etanl= i 2 FEREENE 20.0 kWLl E
BRI 2 REEHE=E 30.0 kWLl E
BRI 2 PC=E 30.0 kWL E
BRI 2 FRE 25.0 kWLl E
etanl= i 2 mEE1L 3.6 kWLt
BRI 2 HE=E2 3.6 kWLt
etanl= i 2 HE=E3 3.6 kWLt
BRI 2 ME=E 40.0 kWLl E
BRI 3 AR 20.0 kWLl E
BRI 3 AR E (1) 3.6 kWLt
etanl= i 3 R E (2) 3.6 kWLt
BRI 3 BRI EHE 20.0 kWLl E
BRI 3 (S WHE) 20.0 kWLl E
BRI 3 BT = 45.0 kWLl E
BRI 3 EMTE 30.0 kWL E
BRI 3 BRE 30.0 kWL E
BRI 3 RERMEIRE 30.0 kWL E
BRRFR 1 B E 45.0 kWL E
IRIRFRFR 1 = 3.6 kWLt
BRRFR 1 BOEE 3.6 kWLt
BRRFR 1 BIERIE 25.0 kWLl E
BRRFR 1 F2ERIE 25.0 kWLl E
BRRFR 1 RERFAEE 25.0 kWLl E
BRRFR 2 BTE(T) 30.0 kWL E
BRRFR 2 RERMEIRE 25.0 kWLl E
IR FR 2 SE=E3 14.0 kWL E
IR FR 2 EREE 14.0 kWL E
I FFFR 1 F1ER=E 25.0 kWLl E
L FPFR 1 EMTE 30.0 kWL E
L F AR AR 1 M= (RI) 20.0 kWL E
L F AR AR 1 A= (1) 40.0 KWL E
L FPFR 1 = 7.1 kWLl E
L FPFR 1 BOEE 7.1 kWLl E




AI#E 3

e, 2 RERBRE 25.0 kWAL E
e, 2 BRI 200 KWELE
e, 2 REREIRE 30.0 KWELE
BRTER 1 RNE 400 KWELE
BRTER 1 R ES 25.0 KWELE
BRTER 1 e 45 KWLLE
BRTER 1 WkE 3.6 KWLLE
BRTER 2 REREIRE 25.0 KWELE
BRTER 2 RERBRE 25.0 KWELE
BRTER 3 == 30.0 KWELE
BRTER 3 YN 140 KWLLE
ENETFR 1 e 45 KWLLE
MR 1 WkE 3.6 KWLLE
EME PR 1 R ES 25.0 KWELE
BN R 1 A= 45.0 KWELE
BN R 2 £ihE 25.0 KWELE
MR 2 RERBEE 25.0 KWELE
BN R 2 YN 140 KWLLE
MR 3 REREIRE 25.0 KWELE
)1 1 e 45 KWLLE
)1 1 WkE 3.6 KWLLE
)1 1 R ES 25.0 KWELE
)1 1 S E 50.0 KWELE
)1 2 = 25.0 KWELE
)1 2 RERBEE 25.0 KWELE
)1 3 R ES 25.0 KWELE
)1 3 REREIRE 300 KWELE
)1 4 YN 200 KWELE
EEER, 1 TEES 450 KWELL
B 1 e 50 KWELE
B 1 REZ 125 KWLLE
B 1 REE 200 KWELE
B 1 EBE 45 KWLLE
B 1 SHE 200 KWELE
B 1 B2 10.0 KWLLE
B 1 WkE 71 KWELE
T 1 B1ERE 25.0 KWELE
B 1 B S ka1 71 KWBLE
B 1 B S phE8 2 71 KWBLE




AI#E 3

P FER 1 2 ATE 8- 45.0 kWL E
P FR 1 RERFABEE 30.0 kWZLE
P FR 1 ZENREE 45.0 KWL E
P FR 1 PCE 30.0 kW E
B R S s 1 SHlbE 3l 14.0 kWLl E
B R S s 1 SHlbE 14.0 kWLl E
P FR 1 et 40.0 KWL E
P FR 2 REFHMERE 25.0 kWILE
P FR 2 E2EME 20.0 kWL E
P FR 2 GER I 3.6 kW E
P FR 2 GERES 3.6 kWL E
P FR 2 GERES 3.6 kWL E
P FR 2 GEEE 3.6 kW E
R h 2 $1BRE 30.0 kWil E
R hE 2 $2BRE 30.0 kWil E
P FR 2 EIEM=E 25.0 kWL E
P FR 2 EE#H=E] 3.6 kWL E
R 2 EBEH =2 3.6 kWL E
P FR 2 FE2EXRE 25.0 kWL E
P FR 2 ZEM=E 14.0 kWL E
P FR 4 %Z =2 20.0 kWLl E
=ERER 1 et = 40.0 KWL E
=ERER 1 EM= 25.0 kWL E
=ERER 1 BOEE 5.0 kWL E
=ERER 1 SHES 4.5 kWL E
=ERER 1 #fF= (PC=E) 7.1 kWL E
=ERER 2 FE2IBRIE 25.0 kWL E
=ERER 2 FIBRIE 25.0 kW E
=ERER 3 RERHERE 30.0 kW E
=ERER 3 RERFABEE 25.0 kWL E
=ERER 3 (EfE=E 7.1 kWL E
KA ER 1 et = 40.0 KWL E
KA ER 1 RERFAEE 25.0 kWL E
KBRZER 1 FE2IBRIE 25.0 kWL E
KA ER 1 SIS 5.0 kWL E
KA ER 1 BOEE 3.6 kWL E
KRR 1 RR=E 7.1 kWL E
KRR 3 #FE(PC) 14.0 kWL E
KA ER 2 EM= 25.0 kWL E




AI#E 3

Rt 2 REFMEARE 25.0 kWL E
RBRFER 2 BIBRE 25.0 kWL E
FARP PR 1 Bt = 45.0 kWIL E
FARP PR 1 BIBRE 25.0 kWL E
FARP PR 1 SNHES 7.1 kWL E
FARP PR 1 B2BRE 30.0 kWE E
FARP PR 1 RERHEE 25.0 kWL E
FARP PR 2 Efis= (PC) 7.1 kW E
FARP PR 2 REFMEIRE 25.0 kWL E
FARP PR 2 ERERE 4.5 kWELE
FARAP LR 3 BIEME 30.0 kWEL E
R4 PR 1 Bt = 45.0 kWL E
R4 PR 1 L= 25.0 kWL E
R4 PR 1 Eil=E 25.0 kWL E
R4 PR 1 SNHES 3.6 kWX E
R4 PR 1 JOXZE 3.6 kWX E
R4 PR 2 RERGHEE 25.0 kWL E
R4 PR 2 Efig= (PC) 10.0 kW E
R4 PR 3 REFMEIRE 30.0 kWEL E
R4 PR 3 (ARSI NBH W) 7.1 kW E
BERFER 1 SNHES 7.1 kW E
BERFER 1 JOXZE 3.6 kWX E
BERFER 1 HKE 5.6 kWL E
BERFER 1 SR ES 45.0 kWL E
BERFER 1 BIBRE 20.0 kWL E
BERFER 1 B2BRE 20.0 kWL E
BERFER 1 Efis= (PC) 7.1 kW E
BERFER 2 RERHEE 20.0 kWXL E
BERFER 2 REFMEARE 20.0 kWL E
BERFER 3 BIEME 25.0 kWL E
FERFR 3 B2EME 25.0 kWL E
sl E 2R 1 BT = 45.0 kWL E
sl E 2R 1 SNHES 3.6 kWX E
sl LRk 2R 1 ROXZE 3.6 kWX E
sl Lk 1 Eil=E 20.0 kWL E
sl iR 1 L= 30.0 kWEL E
sl EE 2R 2 ERERE 14.0 kWX E
sl EE 2R 2 RERGHEE 25.0 kWL E
sl Lk 2R 2 REFMEIRE 25.0 kWL E




AI#E 3

FafE R R 3 #fF=E(PC) 5.6 kWL E
)| R EAR 1 EREN 3.6 kWLl E
P | R 1 A= 50.0 kW E
)| PR 1 RERHERE 30.0 kWl kE
)| PR 2 ERE 25.0 kWl kE
)| PR 2 RERFABEE 25.0 kWil kE
)| PR 2 FNRIZE 5.6 kWL E
)| PR 2 BOEE 3.6 kWLl E
)| PR 2 REE 14.0 kWL E
)| PR 2 ERRE 20.0 kWil k
P R AR 2 (RASILDH L) 14.0 kWX E
PR PR 3 EME 30.0 kWil k
=EFHER 1 FT= 30.0 kWil kE
=EFHER 1 ERRE 5.0 kWL E
=EFHER 1 EME 25.0 kWl E
=BFEHRFER 1 ERlE 25.0 kWl E
=EFHER 1 FNRIZE 7.1 kWil E
=EFHER 1 BOXEE 3.6 kWil E
=EFHER 1 = 3.6 kWLl E
=EFHER 2 RERHERE 25.0 kWil E
=EFHER 2 RERFAEE 25.0 kWil E
PERER 1 FT= 45.0 kWL E
PERER 1 BOEZE 3.6 kWil E
PERER 1 FIRIZE 45 kWLl kE
PERER 1 FEE 3.6 kWLl E
PERER 2 RERFAEE 25.0 kWLl E
PERER 2 ERlE 25.0 kWl E
PERER 3 EME 25.0 kWil k
PERER 4 ERRE 10.0 kWL E
FEEABA R FR 1 FT= 45.0 kWL E
FEEABA R FR 1 EME 25.0 kWil k
FEEAB AR FR 1 BOEZE 3.6 kWil E
FEEAB AR FR 1 FNRIZE 45 kWLl k
FEEAB AR FR 1 SHlbE 14.0 kWL E
FEEAB AR FR 2 Bl 25.0 kWil k
FEEAB AR F R 2 RERFAEE 25.0 kWl k
FEEAB AR F R 3 RERHERE 25.0 kWl kE
FEEAB AR FR 3 ERRE 7.1 kWi E
KR 1 FT= 50.0 kWl E




AI#E 3

R PR 1 EMTE 25.0 kWLl E
R PR 1 SN 7.1 kWLl E
R PR 1 BOEE 3.6 kWLt
R PR 2 RERMEIRE 25.0 kWLl E
R PR 2 RERFAEE 25.0 kWLl E
R PR 2 #f=E (PC) 7.1 kWLl E
R FAR 3 BIERIE 25.0 kWLl E
R PR 3 F2ERIE 25.0 kWLl E
R PR 4 EREEE 20.0 kWLl E
REL R FAR 1 = 45 kWLl E
REL R FAR 1 BOEE 4.0 kWLl E
B FAR 1 MRE 45 kWLl E
REL R FAR 1 BiE 45.0 kWL E
REL R FAR 2 EMTE 25.0 kWLl E
REL R FAR 2 BRE 25.0 kWLl E
REL R FAR 2 EREE 7.1 kWLl E
REL R FAR 3 RERFAEE 30.0 kWL E
REL R FAR 3 RERMEIRE 40.0 kWLl E
R FR 1 SIS 45 kWL E
R FR 1 BOEE 3.6 kWLt
R FR 1 RERMEIRE 20.0 kWLl E
R FR 1 RERFAEE 30.0 kWL E
R 1 wifr= (£ I) 30.0 kWL E
R FR 1 BAfr=E(CRI) 30.0 kWL E
R FR 2 ZEME 20.0 kWLl E
R FR 2 BIERIE 40.0 kWLl E
R FR 3 PC=E 40.0 kKWLL_E
R FR 3 EMTE 30.0 kWL E




